


A sum of Rs.9000 is to be distributed among A,B and C in the 
ratio 4:5:6 . What will be the difference between A’s and  C’s 
shares?
9000 रुपये की राशि को A, B और C के बीच 4:5:6 के अनुपात में
शितररत शकया जाना है। A और C के िेयरोों के बीचक्या अोंतर होगा?
• A Rs. 1200 B.Rs.800 C.Rs.1800 D.None



Rs.64000 are divided among theee workers in the ratio ⅗: 2 : 
5/3.The share ( in Rs ) of the second worker is. 
64000 रुपये आपके श्रशमकोों के बीच ⅗: 2: 5/3 के अनुपात में शिभाशजत
हैं। दूसरे कममचारी का शहस्सा (रुपये में) है।
A.1000 B.4000 C.1500 D.None



Rs.180 contained in a box consists of Rs.1,50 paise and 25 paise coins in the 
ratio 2:3:4.What is the number of 50 paise coins?
एक बके्स में रखे 180 रुपये में 1,50 पैसे और 25 पैसे के शसके्क 2:3:4 के अनुपात में
हैं। 50 पैसे के शसक्कोों की सोंख्याक्या है?

A.120 B.180 C.250 D.None



A sum of Rs.53 is divided among Akash , Aditi and Ansh in such a way that  
Akash gets Rs.7 more than what Aditi gets Rs.8 more than What Ansh 
gets.The ratio of their shares is.
53 रुपये की राशि को आकाि, अशदशत और अोंि के बीच इस प्रकार शिभाशजत शकया
जाता है शकआकाि को अशदशत को शमलने िाली राशि से 7 रुपये अशिक शमलते हैं और
अोंि को शमलने िाली राशि से 8 रुपये अशिक शमलते हैं। उनके िेयरोों का अनुपात है।
• A.16:9:18 B.25:18:10 C.18:25:10 DNone



There are 50 paise,25 paise and Rs.1 coins in a bag in the ratio 
5:8:1.If the total value of all the coins in Rs.55,how many 25 Paisa 
coins are there in the bag?
एक बैग में 5:8:1 के अनुपात में 50 पैसे, 25 पैसे और 1 रुपये के शसके्क हैं।
यशद सभी शसक्कोों का कुल मूल्य 55 रुपये है, तो बैग में 25 पैसे के शकतने
शसके्क हैं?
• A.10 B.80 C.50 DNone



Rs.280 are distributed into a total of 88 boys and girls.The ratio of total amount 
given to all the boys to that of all the girls is 4:3 .The ratio of amount given to one 
boy to amount given to one girl is 8:5 .Find the number of boys and girls 
respectively.
कुल 88 लड़कोों और लड़शकयोों में 280 रुपये शितररत शकए गए। सभी लड़कोों को दी गई
कुल राशि का सभी लड़शकयोों से अनुपात 4:3 है। एक लड़के को दी गई राशि का एक
लड़की को दी गई राशि का अनुपात है 8:5 .क्रमिः लड़के और लड़शकयोों की सोंख्या ज्ञात
कीशजए।A.32 and 56 B.36 and 52 C.48 and 40 D.NONE



Varun and kartik purchased the shares in ratio 7:9 for the cost of their basic 
salaries.Thd company gave each of them 50 shares as incentive,due to which the 
ratio changes to 9:11.If each share cost is Rs.60 .Find the basic salary of Varun.
िरुण और काशतमक ने अपने मूल िेतन की लागत 7:9 के अनुपात में साझा की है।
कों पनी ने उन्हें प्रते्यक को प्रोत्साहन के रूप में 50 िेयर शदए, शजसके कारण अनुपात
9:11 में बदल शदया गया। यशद प्रते्यक िेयर की कीमत 60 रुपये है। िरुण का मूल
िेतन ज्ञात शकया गया।

• A.Rs 13500 B.Rs.16500 C.Rs.21000 D. NONE



The ratio of students in three class of school is 4:5:6.If 60 students increased 
in each class,the ratio becomes 6:7:8 ,then what was the total no.of students in 
the three classes of school initially?
सू्कल की तीन कक्षाओों में छात्ोों का अनुपात 4:5:6 है। यशद प्रते्यक कक्षा में 60 छात् बढ़
जाते हैं, तो अनुपात 6:7:8 हो जाता है, तो प्रारोंभ में सू्कल की तीन कक्षाओों में छात्ोों की
कुल सोंख्या शकतनी थी?

• A.630 B.450 C.540 D NONE



A pizzaa is cut into two pieces in the ratio of 6:7 by weight.The bigger 
of the two pieces is further cut in the ratio of 4:7 by weight.Find the 
ratio of each of the three pieces.
एक शपज्जा को िजन के शहसाब से 6:7 के अनुपात में दो टुकड़ोों में काटा जाता
है। दोनोों टुकड़ोों में से जो बड़ा है उसे िजन के शहसाब से 4:7 के अनुपात में
काटा जाता है। तीनोों टुकड़ोों में से प्रते्यक का अनुपात ज्ञात कीशजए।

A.11: 14 : 7 B.33:28:49 C.35: 49 : 40 D.NONE 



In an office of 1200 employees, the ratio of urban to rural members of staffs is 
8:7 .After joining of some new employees ,out of which 20 are rural ,the ratio 
becomes 5:4.The number of new urban employees is
1200 कममचाररयोों के एक कायामलय में, िहरी और ग्रामीण कममचाररयोों का अनुपात 8:7 
है। कुछ नए कममचाररयोों के िाशमल होने के बाद, शजनमें से 20 ग्रामीण हैं, अनुपात 5:4 
हो जाता है। नए िहरी कममचाररयोों की सोंख्या है:

A.100 B.85 C.75 D.None



By mistake, instead of dividing Rs.117 among A,B and C in the ratio 
1/2, 1/3 , ¼  it was divided in the ratio of 2:3:4 who gains the most and 
by how much?
गलती से, 117 रुपये को A, B और C के बीच 1/2, 1/3, ¼ के अनुपात में शिभाशजत
करने के बजाय 2:3:4 के अनुपात में शिभाशजत शकया गया, शकसे सबसे अशिक लाभ
हुआऔर शकतना?

A. Rs. 28 A    B.Rs.3 B    C. Rs .20 C   D.Rs.25 C 



The ratio of weekly incomes of A 
and B is 9:7 and the ratio of their 
expenditure is 4:3 .If each saves 
Rs.200 per week ,then the sum of 
their weekly income is.
A और B की साप्ताशहक आय का
अनुपात 9:7 है और उनके व्यय का
अनुपात 4:3 है। यशद प्रते्यक प्रशत सप्ताह
200 रुपये बचाता है, तो उनकी
साप्ताशहक आय का योग है।

A.Rs.3600 B.Rs.3200 C.Rs.4800 D.Rs.5600 



Rs 180 are to be divided among 66 persons 
( men and women) .The ratio of the total 
amount of money received by men and 
women is 5:4 .But the ratio of the money 
received by each man and woman is 3:2 
.The number of men  is 
180 रुपये को 66 व्यक्तियोों (पुरुषोों और
मशहलाओों) के बीच शिभाशजत शकया जाना है।
पुरुषोों और मशहलाओों द्वारा प्राप्त िन की कुल
राशि का अनुपात 5:4 है। लेशकन प्रते्यक पुरुष
और मशहला द्वारा प्राप्त िन का अनुपात 3:2 है।
पुरुषोों की सोंख्या है.

A 20 B.24 C.30 D.69 



Akhilesh took five papers in an examination, 
where each paper was of 200 marks.His
marks in these papers were in the ratio 
proportion of 7:8:9:10:11.In all papers 
together, the candidate obtained 60 % of the 
total marks .Then ,the number of papers in 
which he got more than 50% marks is:
अक्तखलेि ने एक परीक्षा में पाोंच पेपर शदए, जहाों प्रते्यक
पेपर 200 अोंकोों का था। इन पेपरोों में उनके अोंक
7:8:9:10:11 के अनुपात में थे। सभी पेपरोों को
शमलाकर, उम्मीदिार ने कुल का 60% प्राप्त शकया
अोंक। तो, उन पेपरोों की सोंख्या है शजनमें उसे 50% से
अशिक अोंक शमले:

A.1 B.3 C.4 D.5 



A sum of money is divided among Wasim , 
chintan,Yash and Zignesh in the ratio of 
3:7:9:13 respectively.If the share of Wasim 
and Yash together is Rs.11172 ,then what is 
the difference between the amount of Chintan 
and Zignesh?
Q12.एक िनराशि को िसीम, शचोंतन, यि और शजगे्नि
के बीच क्रमिः 3:7:9:13 के अनुपात में शिभाशजत
शकया गया है। यशद िसीम और यि का शहस्सा कुल
शमलाकर 11172 रुपये है, तो राशि के बीच अोंतर क्या
है? शचोंतन और शजगे्नि का?

A.Rs.7672 B.Rs.6834 C.Rs.5586 D.Rs.7867 



The monthly income of A and B are in the ratio of 
3: 4 respectively and the monthly saving of A, B, 
and C are in the ratio of 4: 5: 6 respectively. The 
monthly expenditure of A is Rs. 2500 less than 
that of C and the monthly expenditures of B is Rs. 
1000 more than that of A. Every month, C spends 
Rs. 5000 then how much money does he save? 
A और B की माशसक आय क्रमिः 3: 4 के अनुपात में है
और A, B और C की माशसक बचत क्रमिः 4: 5: 6 के
अनुपात में है। A का माशसक व्यय रु. C की तुलना में 2500 
कम है और B का माशसक व्यय रु. A की तुलना में 1000 
अशिक है। C हर महीने रु. खचम करता है। 5000 तो िह
शकतना पैसा बचाता है?
A. Rs. 4500 B. Rs. 3000 C. Rs. 35000 D. None of these



In a school, the ratio of the number of boys to the 
number girls is 7 : 5. When some number of boys 
and some number of girls left the school, then the 
ratio of remaining number of boys to the remaining 
number of girls become 7 : 5. The number of boys, 
who left the school was what percentage of the 
number of girls who left the school? 
एक सू्कल में लड़कोों की सोंख्या और लड़शकयोों की सोंख्या का
अनुपात 7:5 है। जब कुछ सोंख्या में लड़के और कुछ सोंख्या में
लड़शकयााँ सू्कल छोड़ देती हैं, तो िेष लड़कोों की सोंख्या और
लड़शकयोों की सोंख्या का अनुपात 7:5 हो गये। सू्कल छोड़ने
िाले लड़कोों की सोंख्या, सू्कल छोड़ने िाली लड़शकयोों की
सोंख्या का शकतना प्रशतित थी?
A. 150% B. 140% C. 58.33% D. 112.5%


